
Y
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19,500 21,126 26,ooo

1,626 4,874
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(3) waoi

saaJ

6,500 1,626 4,874

(3,ooo) 2,694 (S.a94)

16,275 11,002 5273

5,850 3,034 2,816

25,625 1..1(6

1591147  = 22,173

159/152  = 88,914

159/152  = (89.%1)

'4lfllyIllil9plY\

31 lm.  37
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"anlrlll~Ur6la;l%U57~,9U~og~U  5ZHilJ~  37

WtdlJ5?SJ (26.000 - 19,500) =fid.Q!J

WadlJ6wao~ol"~Ul~o~~i?aJ (21,126 - 19,500) = 1,626

wnil~6~wdoJolndUl~oqw5 (26,000 - 21,126) =A824

UIU  30 li.n.  37 159/159 = l&Q!I!o

~lfll6%l~~t'jU~UtflP1"ql~

hum

ill  51myzlogIh

- fu-wi.6

- 01 n15¶h51n1 *

- 91 31 B.fI.  37

wahsa¶J (15,000 - 18,ooo) =l3!.W

wa~l~6~o~ol"~udo~a~~ (20,694 - 18,000) = 2,694

W&N6ikMlXl63  U6&Itj?l% (15,000 - 20,694) =JLzfi!a
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(6) fllfll9

DlfnS:-

81-3&JJ3A  (qn5,

ifmll9

FilL&ll957"7ir  37

SlnlOlfllf

flWfiblla1tJWI

al 9lfllyIuilB~Ihd:-

- %I &.I

- 91 n79ll%91fl1

- 91 31 ml.37

r1fnYpilrgY

01 h5.l

140,oocl

lh91m

159/147  = 151,429

159/152= &X&i)

326 AC 409



(7) Qlh5f1ihh~lU

IEilys1m

159/151  = 63,179

159/152= (S.J%,I

31 ma. 37

(62,700 - 56,850)

(59,884 - 56,850)

(62,700 - 59,884)

= 5,850

=IL!l%

=2.8l6
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uwn mJilMwa Bliic

wqa CC /CD

G&i 31 8"u-nau  2510

r1n1vpde@l  llGJs1n1  r1fl1quclopY'u

31 6.c). 36

36,000

24,000

20,500

33,000

175,000

c3LQ!m

110,m 1591127

159/147

159/147

159/147

lS9/147

159/147

159/147

159/147

31 nn.37

38,939

25,959

22,173

35,694

189,286

fi3u.m

43,265

125,197

lasJ32

WhRXlU  CC/ CD

ilw%lTl thdqw?“uii  Sl  s.a.  37

Alhrznua'u'llr'uslm  31 ml. 37 lOS,732

Uafl  fh~s~na’  CC /CD

126,535

?%l du~uPlndm (10,000x  159/151)

AC 409
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f’i CC/CD,
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Y

?“w$i  31 %daww  2637

32,050

32tmO

13,500

m-m

w,ooo)

80,000

luc@
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HClCD

180,ooo

6woo

30,ooo

15,ooo
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HC' lhiralf31 IX/CD

M 35050

M 3%4@

150/135 15,ooo

150/120 75,000

150/120 ciooo)

150/127 u.Q?

146950.

336

,

i
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I

I

I

I

L
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2

= 69,000

FilbibJSl~? = 69,000 x 20%

= 13,800 'L1lM

cc

01  %&J

¶l%mil

150/135  = 135,Octo

HO/135  = gIzP&x)

cc

31 lf.fl.  37

1338 AC409





35050

32&o

1630

78,ooo

~15,600)

100,000
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